## ON THE SOLUTIONS OF KLEIN-GORDON EQUATION

Ö. KARAMAN* and C. YANIK**

* Department of Mathematics, Ankara University, 06100 Besevler-Ankara, Turkey
**Department of Mathematics, Hacettepe University, Ankara, Turkey
(Received May 15, 2000; Accepted Dec. 22, 2000)


## ABSTRACT

In this paper we find the solutions of the equation

$$
y^{\prime}+(\lambda-Q(x))^{2} y-\frac{n(n+1)}{x^{2}} y=0, \quad x \in R_{+}
$$

using the solutions of the Klein-Gordon equation

$$
y^{\prime \prime}-(\lambda-Q(x))^{2} y=0, \quad x \in R_{+}=[0, \infty)
$$

where Q is a real valued function, $\lambda$ is a spectral parameter and n is a natural number.

## 1. INTRODUCTION

Let us consider the following boundary value problems

$$
\begin{align*}
& y^{\prime \prime}-(\lambda-Q(x))^{2} y=0, \quad x \in R_{+}  \tag{1.1}\\
& y(0)=0
\end{align*}
$$

and

$$
\begin{equation*}
y^{\prime \prime}+(\lambda-Q(x))^{2} y-\frac{n(n+1)}{x^{2}} y=0, \quad x \in R_{+}, \tag{1.2}
\end{equation*}
$$

where $Q$ is an absolutely continuous real valued function in each finite subinterval of $\mathrm{R}_{+}$and satisfying

$$
\begin{equation*}
\int_{0}^{\infty} \mathrm{x}|\mathrm{Q}(\mathrm{x})|+\left|\mathrm{Q}^{\prime}(\mathrm{x})\right| \mid \mathrm{dx}<\infty \tag{1.3}
\end{equation*}
$$

Under the condition (1.3) the equation (1.1) has the solutions

$$
\begin{equation*}
\mathrm{e}^{+}(\mathrm{x}, \lambda)=\mathrm{e}^{\mathrm{i} \lambda x+\mathrm{i} \alpha(\mathrm{x})}+\int_{\mathrm{x}}^{\infty} \mathrm{K}^{+}(\mathrm{x}, \mathrm{t}) \mathrm{e}^{\mathrm{i} \lambda \mathrm{t}} \mathrm{dt} \tag{1.4}
\end{equation*}
$$

and

$$
\begin{equation*}
e^{-}(x, \lambda)=e^{-i \lambda x-i \alpha(x)}+\int_{x}^{\infty} K^{-}(x, t) e^{-i \lambda t} d t \tag{1.5}
\end{equation*}
$$

for $\lambda$ in the closed upper and lower half-planes, respectively, where

$$
\alpha(\mathrm{x})=\int_{\mathrm{x}}^{\infty} Q(\mathrm{t}) \mathrm{dt}
$$

and the kernels $K^{ \pm}(x, t)$ are expressed in terms of $Q$ and $K^{ \pm}(x, t)$ are the solutions of Volterra type integral equations $[6]$ ).

As it is known, the solutions of $\mathrm{e}^{+}(\mathrm{x}, \lambda)$ and $\mathrm{e}^{-}(\mathrm{x}, \lambda)$ given (1.4) and (1.5) are important in the investigation of spectral analysis and scattering theories of the boundary value problems (1.1) ([2]-[5]). But the equation (1.2) has no solution represented as the solutions (1.4) and (1.5) due to the factor $\frac{n(n+1)}{x^{2}}$.

In this study, our purpose is to find that the equation (1.2) have the similar solutions to (1.4) and (1.5) using the solution of the equation (1.1).

The similar problem has been studied for Sturm-Lioville equation in [ 1 ].

## 2. The solution of (1.2)

Let us consider the following equation

$$
\begin{equation*}
y^{\prime \prime}+\left(Q^{2}(x)-2 \lambda Q(x)\right) y=0 \tag{2.1}
\end{equation*}
$$

Then we get
Theorem2.1. For all $\lambda$, equation (2.1) has the solution $f(x, \lambda)$ which satisfies the initial conditions $\mathrm{f}(0, \lambda)=0, \mathrm{f}^{\prime}(0, \lambda)=1$ and $f(\mathrm{x}, \lambda)$ has the representation

$$
\begin{equation*}
f(x, \lambda)=x-\int_{0}^{x}(x-t)\left\{Q^{2}(t)-2 \lambda Q(t)\right\} f(t, \lambda) d t \tag{2.2}
\end{equation*}
$$

Moreover the asymptotic equalities

$$
\begin{equation*}
f(\mathrm{x}, \lambda) \cong \mathrm{x}(1+\mathrm{o}(1)), \mathrm{f}^{\prime}(\mathrm{x}, \lambda) \cong(1+\mathrm{o}(1)) \tag{2.3}
\end{equation*}
$$

are valid.
Proof. If we integrate equation (2.1) twice and use the initial conditions, we get equation (2.2). From equation (2.2), we get asymptotic equalities (2.3) by means of standard technique ( 77$]$ p.145) .

Let $h(x, \lambda)$ be the normalized eigen-function of the boundary value problem (1.1). The solution $h(x, \lambda)$ has the following asymptotic behavior

$$
\begin{equation*}
\mathrm{h}(\mathrm{x}, \lambda)=\mathrm{x}\left(\mathrm{~h}^{\prime}(\mathrm{x}, \lambda)+\mathrm{o}(1)\right) \tag{2.4}
\end{equation*}
$$

for $x \rightarrow 0$.
If we consider the function

$$
\begin{equation*}
y(x, \lambda)=\frac{f(x, \lambda) h^{\prime}(x, \lambda)-f^{\prime}(x, \lambda) h(x, \lambda)}{\lambda f(x, \lambda)} \tag{2.5}
\end{equation*}
$$

We can give following
Theorem2.2. If the function $f(x . \lambda)$ is not vanished in the interval $(0, \infty)$, then the function $y(x, \lambda)$ defined by $(2.5)$ satisfies the equation

$$
\begin{equation*}
y^{\prime \prime}+V(x, \lambda) y+\lambda^{2} y=0 \tag{2.6}
\end{equation*}
$$

where

$$
\begin{equation*}
V(x, \lambda)=Q^{2}(x)-2 \lambda Q(x)+2\left[f^{\prime}(x, \lambda) f^{-1}(x, \lambda)\right]^{\prime} \tag{2.7}
\end{equation*}
$$

Proof. Let us write the first and second derivatives of $y(x, \lambda)$ :

$$
y^{\prime}(x, \lambda)=-\lambda h(x, \lambda)-\frac{f^{\prime}(x, \lambda)}{f(x, \lambda)}\left\{\frac{f(x, \lambda) h^{\prime}(x, \lambda)-f^{\prime}(x, \lambda) h(x, \lambda)}{\lambda f(x, \lambda)}\right\}
$$

and

$$
\begin{aligned}
y^{\prime \prime}(x, \lambda) & =-\lambda^{2} \frac{f(x, \lambda) h^{\prime}(x, \lambda)}{\lambda f(x, \lambda)}-\left(\frac{f^{\prime}(x, \lambda)}{f(x, \lambda)}\right)^{\prime} y(x, \lambda)+\lambda \frac{f^{\prime}(x, \lambda) h(x, \lambda)}{f(x, \lambda)}+\frac{f^{\prime 2}(x, \lambda)}{f^{2}(x, \lambda)} y(x, \lambda) \\
& =-\lambda^{2}\left\{\frac{f(x, \lambda) h^{\prime}(x, \lambda)-f^{\prime}(x, \lambda) h(x, \lambda)}{\lambda f(x, \lambda)}\right\}+\left\{\frac{f^{\prime 2}(x, \lambda)}{f^{2}(x, \lambda)}-\left(\frac{f^{\prime}(x, \lambda)}{f(x, \lambda)}\right)^{\prime}\right\} y(x, \lambda)
\end{aligned}
$$

$$
\begin{aligned}
& =-\lambda^{2} y(x, \lambda)+\left\{\frac{f^{\prime 2}(x, \lambda)}{f^{2}(x, \lambda)}-\frac{f^{\prime \prime}(x, \lambda) f(x, \lambda)-f^{\prime 2}(x, \lambda)}{f^{2}(x, \lambda)}\right\} y(x, \lambda) \\
& =-\lambda^{2} y(x, \lambda)-\left(Q^{2}(x)-2 \lambda Q(x)\right) y(x, \lambda)+\left\{\frac{\left.2 \frac{f^{\prime 2}(x, \lambda)}{f^{2}(x, \lambda)}-2 \frac{f^{\prime \prime}(x, \lambda)}{f(x, \lambda)}\right\} y(x, \lambda) .}{} .\right.
\end{aligned}
$$

Hence, we find that

$$
\left.y^{\prime \prime}(x, \lambda)+\left\{Q^{2}(x)-2 \lambda Q(x)\right\}(x, \lambda)+2 \llbracket f^{\prime}(x, \lambda) f^{-1}(x, \lambda)\right\} y(x, \lambda)+\lambda^{2} y(x, \lambda)=0
$$

If we use the asymptotic equalities (2.3) and (2.4) as $x \rightarrow 0$, we have

$$
\begin{aligned}
\lim _{x \rightarrow 0} y(x, \lambda) & =\lim _{x \rightarrow 0} \frac{f(x, \lambda) h^{\prime}(x, \lambda)-f^{\prime}(x, \lambda) h(x, \lambda)}{\lambda f(x, \lambda)} \\
& =\lim _{x \rightarrow 0} \frac{f(x, \lambda) h^{\prime}(x, \lambda)}{\lambda f(x, \lambda)}-\lim _{x \rightarrow 0} \frac{f^{\prime}(x, \lambda) h(x, \lambda)}{\lambda f(x, \lambda)} \\
& =\lim _{x \rightarrow 0} \lambda^{-1} h^{\prime}(x, \lambda)-\lim _{x \rightarrow 0} \lambda^{-1} f^{\prime}(x, \lambda) \frac{h(x, \lambda)}{f(x, \lambda)} \\
& =\lambda^{-1} h^{\prime}(0, \lambda)-\lim _{x \rightarrow 0} \lambda^{-1} f^{\prime}(x, \lambda) \frac{h^{\prime}(x, \lambda)}{f^{\prime}(x, \lambda)} \\
& =0
\end{aligned}
$$

$$
\begin{aligned}
2\left[f^{\prime}(x, \lambda) f^{-1}(x, \lambda)\right]^{\prime} & =2\left\{(1+o(1)) \frac{1}{x(1+o(1))}\right\}^{\prime} \\
& =2\left\{\frac{1}{x}+o(1 / x)\right\}^{\prime} \\
& =-\frac{2}{x^{2}}+o\left(1 / x^{2}\right), \quad x \rightarrow 0
\end{aligned}
$$

Hence, by (2.7) it follows that the potential $V(x, \lambda)$ behaves like $-2 / x^{2}$ in the neighborhood of zero. In this way we use the function (2.5) in the non-singular boundary value problem (1.1) and find the singular boundary value problem (2.6)

Now we find the inverse transformation of the transformation (2.5). Since

$$
\mathrm{y}(\mathrm{x}, \lambda)=\frac{\mathrm{f}(\mathrm{x}, \lambda) \mathrm{h}^{\prime}(\mathrm{x}, \lambda)-\mathrm{f}^{\prime}(\mathrm{x}, \lambda) \mathrm{h}(\mathrm{x}, \lambda)}{\lambda \mathrm{f}(\mathrm{x}, \lambda)}
$$

then we get

$$
\lambda \frac{y(x, \lambda)}{f(x, \lambda)}=\left\{\frac{h(x, \lambda)}{f(x, \lambda)}\right\}^{\prime}
$$

and hence, we also find

$$
\begin{equation*}
\mathrm{h}(\mathrm{x}, \lambda)=\lambda \mathrm{f}(\mathrm{x}, \lambda) \int_{0}^{\mathrm{x}} \frac{\mathrm{y}(\mathrm{t}, \lambda)}{\mathrm{f}(\mathrm{t}, \lambda)} \mathrm{dt} . \tag{2.8}
\end{equation*}
$$

Now in a similar way, we find the differential equation

$$
\begin{equation*}
h^{\prime \prime}(x, \lambda)+\left\{V(x, \lambda)-2\left[f^{\prime}(x, \lambda) f^{-1}(x, \lambda)\right]^{\prime}\right\}(x, \lambda)+\lambda^{2} h(x, \lambda)=0 . \tag{2.9}
\end{equation*}
$$

If we substitute the potential $\mathrm{V}(\mathrm{x}, \lambda)$ defined in (2.7) in the last statement then we find the non-singular equation

$$
y^{\prime \prime}-(\lambda-Q(x))^{2} y=0 .
$$

So we get the following theorem .
Theorem 2.3. If the function $h(x, \lambda)$ defined by (2.8) is the solution of (2.9) then the function $y(x, \lambda)$ defined by (2.5) is the solution of (2.6).

Remark: Now if the boundary value problem defined by (1.1) and the condition $y(0)=0$ has no negative spectrum then the solution $f(x, \lambda)$ of (1.1) for $\lambda=0$ which satisfies the initial conditions $\mathrm{f}(0, \lambda)=0, \mathrm{f}^{\prime}(0, \lambda)=1$ is not vanished in the interval $0<\mathrm{x}<\infty$. The normalized eigen-functions of this boundary value problem and their derivatives will have the following asymptotic behavior at infinity

$$
h(x, \lambda) \cong \sin (\lambda x+\delta(x)) \quad h^{\prime}(x, \lambda) \cong \lambda \cos (\lambda x+\delta(x)), \quad x \rightarrow \infty .
$$

## REFERENCES

[1] Z.S. Agranovich and V.A. Marchenko, The Inverse Problem of Scattering Theory, Science Publishers New York and London, 1963.
[2] E. Bairamov, Ö. Çakar and O. Çelebi, Quadratic Pencil of a Schrödinger Operator with Spectral Singularities: Discrete Spectrum and Principal Functions, Jour. Math. Anal. Appl. 216, (1997), 303-320.
[3] E. Bairamov, Ö. Çakar and A.M. Krall, Spectrum and Spectral Singularities of a Quadratic Pencil of a Schrödinger Operator with a General Boundary Condition. J. Dif. Equations, 151, (1999), 252-267.
[4] E. Bairamov, Ö. Çakar and A.M. Krall, An eigen-function Expansion for a Quadratic Pencil of a Schrödinger Operator with Spectral Singularities. J. Dif. Equations, 151, (1999), 268-289.
[5] E. Bairamov and O. Çelebi, Spectral Properties of the Klein-Gordon s-wave Equation with Complex Potential, Indian J. Pure Appl. Math. 28, (1997), 813-824.
[6] M. Jaulent and C. Jean, The Inverse -Wave Scattering Problem for a Class of Potentials Depending on Energy, Comm. Math. Phys. 28, (1972), 177-220.
[7] M.A. Naimark, Linear Differential Operators II, Ungar, New York, 1968.

